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QUESTION 1

How can you turn a private view into a custom view?
A. turn filtering off

B. set window size and position

C. set the default view for module

D. enable Inheritance on the access for that view

Correct Answer: D

QUESTION 2

Which access level is required to change the privileges of other users?
A. Admin

B. Modify

C. Create

D. Delete

Correct Answer: A

QUESTION 3

Which part of the object identifier is optional?
A. suffix

B. prefix

C. name

D. absolute number

Correct Answer: B

QUESTION 4
Which three elements are displayed in the Standard view? (Choose three.)
A. clipboard

B. ID column
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C. main column
D. Module Explorer

Correct Answer: BCD

QUESTION 5

Which statement is true about importing data from Microsoft Word?
A. Tables are stripped off.

B. OLE objects are strippedoff.

C. Bulleted lists are stripped off.

D. Auto-numbered section numbers are stripped off.

Correct Answer: D
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